EE223 Collaborative Problems Lecture 23

1. Using your calculator (the one you will use on EE223 tests) find:

a) 2+j6in polar degree form
A A ssuming T I - 3% made Vexatt/a pprox'’ to approx

Put mode » Com plex Format’ +o Polar amd \‘a,ngle” +o0
degrees 2 +j6 D|G.32 £ 71-6°]

b) 24% in rectangular form

Put made * Complex Lormat’4o reckamgular and \\0qu16”
to rodians (,’Z,LT"—'.-G) =>

54-4°,
— in polar degree form
1+j3

Put mode ™ (oniplex Pormat " 4o polar ond “omqle" to

degrees (5£(-)30) = (1-)3) ={l-684 - /o.l°]
d) 24£0.7 in complex exponential form (easy!)
by inspection

2. Find 2 cos (6t) — 3 sin (6t) in A cos (wt + 6) form using trigonometry

Acos (cot) = Bsin(wt) = C cos (ot + 8)
here, A=2 ™ =3, 00=0

(=AAB =473 3.6
0 = tar (%) { 150" (8 A0} = tan? (%) - S6.3°

c)

3.6l Cos (ot +56.3°) 4B
34ﬁ/ 3Gl from o“j'”
or Visualize ' 50
v \1 > A

3. Do the above but use phasors (and calculator)
205 (6£) =3 5in (61)=.2 o5 (G4)-3¢05(6¢-90) (Funchans o £ime)
oS phasors = L0 = 3.L-%" (Complex #5)
Calewlator Says this 15 = 3.¢l £56-3°

S0, = @COS (Gf +§@v3ﬂ # Same answer AS eoe,
LoTS easier!
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